TITLE SHEET No.

POLYAMIDE INSULATED DOORS

. THERMALLY EFFICIENT DOOR SYSTEM 3.01
comanr 7rP.i .
G D STANDARD OPTION
CUTTING LIST DIAGRAM

1250 mm Max

O AXIM CLOSER O

WITH(A 15mm EXTENDED SPI)DLE

CS5992

AXIM
TC8800-15

INO72XSLF

CS777

2370 mm Max

arh AXIM
| ||| LPsoo
RN EP500
[P
L ]

[\

Mid Rail Height 900 to 1100
To conform to DDA Standards

FRAME
WIDTH

LEAF AXIM

WIDTH L | 1Ce500-17

CS928 CS928

CS915

CS143

CS795  CS79% e —
Cs422 CS779 CS422

LK062
CS965 CS962 %S?ﬁ CS965 CS962

-
N

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE 1:3 & 1:16 @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 08/10/13

C O I I l a I Pa.t‘t Side SURREY ° CR4 4NX
group Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W /IS

Email: technical@parksidegrp.co.uk ;
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: ht'[p;//www.oomar.alu,co,uk DRG. No. C/Pi—CD—3.01 R1




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.02

SUB TITLE
( : D STANDARD OPTION
EXAMPLE CUTTING LIST

Example Cutting List for Standard Swing Door Outer Frame (1250mm x 2370mm ) ABBREVIATIONS

FRAME - MULLION CS965 — 2@] H 2370.0mm
FRAME - INFILL PLATE CS%62 — 2@] H 2370.0mm B = OVERALL BASE WIDTH
FRAME - HEADER BAR CS993 — 1 B-90 1160mm H = OVERALL HEIGHT
FRARE - HEADER BAR PLATE| CS992 — 1 B-90 1160mm
DOUBLE RAMP THRESHOLD | CS015 — 1 B-90 1160mm
FLAT PLATE - 100mm x 3mm | CS143 — 1 B-90 1160mm
DOOR FINGER GUARD CS994 — 1 H-856 | 2284.4mm
MULLION ADAPTOR CS997 — 1 H-85.6 | 2284.4mm

2

2

2

BEAD - VERTICAL Cs422 — H-78 2292mm
WOOLPILE WP007 — B-90 1160mm
WOOLPILE WP007 — H-85.6 2284.4mm

RlRRRiRRRIRE]

Example Cutting List for Standard Swing Door Leaf with Mid-Rail set at 1100 mm exactly
DOOR - BOTTOM RAIL CS778 — 1@] B-2826 967.4mm ACCESSORIES AND ADDITIONAL ITEMS
DOOR - MID-RAIL CS781 — 1@]| B-2826 967.4mm AXIM E/Load Top Arm & Channel TC-8800-15  —
DOOR - TOP RAIL Cs777 — 1 B -282.6 967.4mm AXIM Size 2 Hold Open TC-8802-90-15—
DOOR - STILE cs779 — 1 H-95.5 2274.5mm AXIM A-Kit Jamb & Header Bar Kit - PAIR TC-8800-03  —
DOOR - AFT STILE CS773 — 1 H-955 2274.5mm TOP ARM FIXING PLATE INO71XSLF
ANTI FINGER GUARD TRIM GK773 — 1 H-95.5 2274.5mm AXIM Heavy Duty T/Load Bottom Pivot Assembly TC-9500-17
BOTTOM PIVOT FIXING PLATE INO70XSLF
DOOR CAVITY FILLER GK754 — 2@]| H-955 2274.5mm FIXING CLEAT FOR TOP/BOTTOM RAIL NC700XSLF
WOOLPILE WP012 — 2 @]| B-2306 1019.4mm CLEAT BACK PLATE INO75XSLF
WOOLPILE WP007 — 2@]| H-955 2074.5mm SOCKET HEAD BOLT FOR CLEAT M8 x 65mm FX213XSLF
CSK MACHINE SCREW M6 x 10mm FX707XSLF
- . — CLEAT MIDRAIL KIT WS918XKIT
Example Cutting List for Standard Swing Door Beads with Mid-Rail set at 1100 mm exactly LOCK LK1800-30
BEAD HORIZONTAL CS795 B- 2754 9746mm | 1 FACE PLATE LK1801-0R/0F
BEAD HORIZONTAL CS928 B- 275.4 974.6mm | — ESCUTCHEON SET KIT LK-062 —
BEAD VERTICAL - TOP CS795 H- 1328.6 | 1041.4mm LOCK FIXING PLATE INO73XSLF —
BEAD VERTICAL - TOP CS928 H- 13284 | 1041.6mm STRIKE PLATE LK1800-51-F/R—
BEAD VERTICAL - BOTTOM | CS795 FIXED* 902.6mm | C—— KEEP BACK PLATE INO79XSLF —
BEAD VERTICAL - BOTTOM | CS928 FIXED* 902.8mm | C— PAD HANDLE HDO9OXSLF ~ —
GLAZING GASKET EXT-TOP | GK425 (2xGLASS width) +(2xGLASS height) +3%) M10 STUD FOR PUSH HANDLE FX082XSLF ~ —
GLAZING GASKET INT-TOP | GK910 (2xGLASS width) + (2xGLASS height) +3%) CYLINDER LK744XSLF
GLAZING GASKET EXT-BOT. | GK425 (2xGLASS width) + (2xGLASS height) +3%) M5 x 20mm Csk MACHINE SCREW FX800XSLF
GLAZING GASKET INT-BOT. | GK910 (2xGLASS width) + (2xGLASS height) +3%) N8 x 16mm Csk SELF TAPPING SCREW FX034XSLF
M5 x 16mm PAN HEAD MACHINE SCREW FX802XSLF
No8 x 25mm Csk SELF TAPPING SCREW FX039XSLF
No8 x 32mm PAN HEAD SELF TAPPING SCREW FX032XSLF
N8 x 16mm PAN HEAD SELF TAPPING SCREW FX035XSLF
ALl GLUE - 310ml (SPECIFY COLOUR) SE007-008

IMPORTANT NOTE

NN N[N N[ [ [N|N| 0|0 |00 |00 |00 — | = | =] == | =

11
©lo
Slo

|
©

|
o

*FIXED - 1100mm-227.9mm=2872.1mm

[N
-
B ENE)

GLASS MUST CONFORM TO LPS 1270 @ 17.5 Thk. Outer Frame (1250mm x 2370mm )
GLASS -TOP [— 1 @] B-2926] H- 1298.6][(B)957.4mm [H)1071.4mm
GLASS-BOTTOM [~ 1 @[ B- 2926 [ FIXED** [(B)957.4mm [(H)982.6mm |  pyE TO MANUFACTURING AND PRODUCTION TOLERANCES OF
**FIXED - 1100mm-174mm=926mm ALUMINIUM, PAINTING, ANODISING, GLASS, PANELS, GASKETS,

PROFILES SELECTED, THE NUMBER OF DOORS FITTED AND

THE CONFIGURATION.MCHECK YOUR GLAZING DIMENSIONS
GLASS SIZE = SIGHT SIZE + 54 mm AND TRIAL THE GLASS SIZE FORMULA BEFORE PROCEEDING
WITH ANY BULK ORDERS.

GLASS WEIGHT-TOP (17.5mmx2.5 ) x(1.065 mts x 0.951 mts ) = 44.2 Kg's
GLASS WEIGHT-BOTTOM (17.5mmx2.5 )x(0.926 mts x 0.951 mts ) = 38.5 Kg's

s Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

J THE PARKSIDE GROUP LTD SCALE 1:2 @ A4
UNIT 5 ° THE WILLOW CENTRE
29 17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

( :OI l lal ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk N
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7RPi—CD—-3.02 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.03

SUB TITLE
G D SECURITY OPTION
CUTTING LIST DIAGRAM

1250 mm Max

O AXIM CLOSER O

WITH{@ 15mm EXTENDED S@DLE

CS992

AXIM
INO78XSLF TC8800-15
INO72XSLF 7,

CS777

2370 mm Max

Mid Rail Height 900 to 1100
To conform to DDA Standards

FRAME
WIDTH INO73XSLF
LK740XSLF
LK752XSLF
LEAF INO74XSLF

CS778

GK91\6V|DTEK91 0
Cogos  LKTABXSLF w
— == INO70XSLF

“\ _ - ; AXIM PIVOT
5, ef - L TC9500-17

CS100

WS700XSLE

[ E:
LS

CS796 CS77
SE003  SE003 LK762 5985 CSo62
GLASS
WIDTH ‘

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE 1:3 & 1:16 @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 08/10/13

C O I I l a I Pa.t‘t Side SURREY ° CR4 4NX
group Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W /IS

Email: technical@parksidegrp.co.uk ;
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: ht'[p;//www.oomar.alu,co,uk DRG. No. C/Pi—CD—=3.03 R1




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.04

SUB TITLE
G D SECURITY OPTION
EXAMPLE CUTTING LIST

Example Cutting List for Standard Swing Door Outer Frame (1250mm x 2370mm ) ABBREVIATIONS

FRAME - MULLION CS965 — 2@] H 2370.0mm
FRAME - INFILL PLATE CS%62 — 2@| H 2370.0mm B = OVERALL BASE WIDTH
FRAME - HEADER BAR CS993 — 1 B-90 1160mm H = OVERALL HEIGHT
FRAME - HEADER BAR PLATE| CS992 — 1 B-90 1160mm
DOUBLE RAMP THRESHOLD | CS015 — 1 B-90 1160mm
FLAT PLATE - 100mm x 3mm | CS143 — 1 B-90 1160mm
DOOR FINGER GUARD CS994 — 1 H-856 | 2284.4mm
MULLION ADAPTOR CS997 — 1 H-85.6 | 2284.4mm

2

2

2

BEAD - VERTICAL Cs422 — H-78 2292mm
WOOLPILE WP007 — B-90 1160mm
WOOLPILE WP007 — H-85.6 2284.4mm

RlRiRltiRRlRIRE]

Example Cutting List for Standard Swing Door Leaf with Mid-Rail set at 1100 mm exactly
DOOR - BOTTOM RAIL CS778 — 1 @] B-2826 967.4mm ACCESSORIES AND ADDTIONAL ITEMS
DOOR - MID-RAIL Cs781 — 1@| B-2826 967.4mm AXIM E/Load Top Arm & Channel TC-8800-15  —
DOOR - TOP RAIL CSs777 — B-282.6 967.4mm AXIM Size 2 Hold Open TC-8802-90-15—
DOOR - STILE CS779 — H-955 2274.5mm AXIM A-Kit Jamb & Header Bar Kit - PAIR TC-8800-03  —
DOOR - AFT STILE CS773 — H-955 2274.5mm TOP ARM FIXING PLATE INO72XSLF
ANTI FINGER GUARD TRIM | GK773 — H-955 2274.5mm TOP ARM FIXING SECURITY ANGLE INO78XSLF
AXIM Heavy Duty T/Load Bottom Pivot Assembly TC-9500-17
DOOR CAVITY FILLER GK754 — 2@| H-955 2274.5mm BOTTOM PIVOT FIXING PLATE INO70XSLF
WOOLPILE WP012 — 2@]| B-230.6 1019.4mm FIXING CLEAT FOR TOP/BOTTOM RAIL NC700XSLF
WOOLPILE WP007 — 2@] H-955 2274.5mm CLEAT BACK PLATE INO75XSLF
SOCKET HEAD BOLT FOR CLEAT M8x65mm FX213XSLF
— - — - CSK MACHINE SCREW M6x10mm FX707XSLF
Example Cuitting List for Standard Swing Door Beads with Mid-Rail set at 1100 mm exactly CLEAT MIDRAIL KIT WS918XKIT
BEAD HORIZONTAL CS795 B- 2754 9746mm | C— LOCK LK1800-30
BEAD HORIZONTAL CS928 B- 275.4 974.6mm | C—— FACE PLATE LK1801-0R/0F
BEAD VERTICAL - TOP CS795 H- 13286 | 1041.4mm ESCUTCHEON SET KIT LK-062
BEAD VERTICAL - TOP CS928 H- 13284 | 1041.6mm LOCK FIXING PLATE INO73XSLF ~ —
BEAD VERTICAL - BOTTOM | CS795 FIXED* 902.6mm | ——1 STRIKE PLATE LK1800-51-F/R—
BEAD VERTICAL - BOTTOM | CS928 FIXED* 902.8mm | ——1 KEEP BACK PLATE INO74XSLF ~ —
GLAZING GASKET EXT-TOP | GK425 (2xGLASS width) + (2xGLASS height) +3%) PAD HANDLE HDO9OXSLF ~ —
GLAZING GASKET INT-TOP | GK910 (2xGLASS width) + (2xGLASS height) +3%) M10 STUD FOR PUSH HANDLE FX082XSLF ~ —
GLAZING GASKET EXT-BOT. | GK425 (2xGLASS width) + (2xGLASS height) +3%) SECURITY CYLINDER LK745XSLF ~ —
GLAZING GASKET INT-BOT. | GK910 (2xGLASS width) + (2xGLASS height) +3%) M5 x 20mm Csk MACHINE SCREW FX800XSLF
N8 x 16mm Csk SELF TAPPING SCREW FX034XSLF
M5 x 16mm PAN HEAD MACHINE SCREW FX802XSLF
No8 x 25mm Csk SELF TAPPING SCREW FX039XSLF
No8 x 32mm PAN HEAD SELF TAPPING SCREW FX032XSLF
N8 x 16mm PAN HEAD SELF TAPPING SCREW FX035XSLF
GLASS MUST CONFORM TO LPS 1270 @ 17.5 Thk. Outer Frame (1250mm x 2370mm ) ALI GLUE - 310ml (SPECIFY COLOUR) SE007-008

GLASS -TOP [— 1 @] B-2926] H- 1298.6][(B)957.4mm [H)1071.4mm
GLASS-BOTTOM |— 1 @ | B- 2926 | FIXED** [(B)957.4mm |(H)932.6mm IMPORTANT NOTE

**EIXED - 1100mm-174mm=926mm

1
7
1
7

o|w|o|o| === =] ===

©
[SILSIENIESIISIENIEN N RS foe)

[RERN
= |o
o|o|S

*FIXED - 1100mm-227.9mm=872.1mm

|
o

|
IS

DUE TO MANUFACTURING AND PRODUCTION TOLERANCES OF
ALUMINIUM, PAINTING, ANODISING, GLASS, PANELS, GASKETS,
GLASS SIZE = SIGHT SIZE + 54 mm PROFILES SELECTED, THE NUMBER OF DOORS FITTED AND
THE CONFIGURATION.MCHECK YOUR GLAZING DIMENSIONS
GLASS WEIGHT-TOP (17.5mmx2.5 ) x(1.065mts x 0.951 mts ) = 44.2Kgs AND TRIAL THE GLASS SIZE FORMULA BEFORE PROCEEDING
GLASS WEIGHT-BOTTOM (17.5mmx2.5 )x(0.926 mts x 0.951 mts ) = 38.5 Kgs WITH ANY BULK ORDERS.

s Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

J THE PARKSIDE GROUP LTD SCALE NTS @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 08/10/13

‘ :OI ' |al ) SURREY ° CR4 4NX
grotip Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W /IS

Email: technical@parksidegrp.co.uk N
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi=CD—=3.04 R1




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

. THERMALLY EFFICIENT DOOR SYSTEM 3.05
comanr 7rP.i
G D STANDARD OPTION
CUTTING LIST DIAGRAM

2000

O wmoossn O
wm@smm EXTENDED S@LE
@) O

D72XSLF

il i AXIM
I i | LP500
I EP500
TN E e

|

LEAF HEIGHT

FRAME HEIGHT - 2370 mm Max

CS778

Mid Rail Height 900 to 1100
To conform to DDA Standards

AXIM
L3 | TCasoz02

LK1800-51
INO74XSLF
CS928 CS928 CS928 (CS928

K74

Cs422 CS795 CS795 ) CS795 (©S795 CS422
GLASS LK1801 LK062 GLASS
CS965 CS962 — WIDTH INO73XSLF WIDTH

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

CS965 CS962

THE PARKSIDE GROUP LTD SCALE 1:3 & 1:16 @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

( :OI l lal ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk ;
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: ht'[p;//v\/\/\/w.oomar.alu,co,uk DRG. No. C7Pi—CD—-3.05 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.06

SUB TITLE
G D STANDARD OPTION
CUTTING LIST EXAMPLE

Example Cutting List for Standard Double Swing Door Outer Frame (2000mm x 2370mm ) ABBREVIATIONS

FRAME - MULLION CS965 — 2@ H 2370.0mm
FRAME - INFILL PLATE CS962 H 2370.0mm B = OVERALL BASE WIDTH
FRAME - HEADER BAR CS993 B-90 1910mm H = OVERALL HEIGHT

FRAME - HEADER BAR PLATE| CS992 B-90 1910mm
DOUBLE RAMP THRESHOLD | CS015 B-90 1910mm
FLAT PLATE - 100mm x 3mm | CS143 B-90 1910mm
DOOR FINGER GUARD CS994 H-856 | 2284.4mm

N
®

|G S G g g

BEAD - VERTICAL Cs422
WOOLPILE ‘WP007
WOOLPILE WP007

H-78 2292mm
B-90 1910mm
H-85.6 2284.4mm

P@|® [9|®PPI®

ENINIDS

Example Cutting List for Standard Double Swing Door Leaf with Mid-Rail set at 1100 mm
exactly ACCESSORIES AND ADDTIONAL ITEMS

DOOR - BOTTOM RAIL CS778 — 2 @] B/2-206.1 793.9mm AXIM E/Load Top Arm & Channel TC-8800-15 —
DOOR - MID-RAIL CsS78i 2@| B/2-206.1 793.9mm AXIM Size 2 Hold Open TC-8802-90-15—
DOOR - TOP RAIL CS777 2@| B/2-206.1 793.9mm AXIM A-Kit Jamb & Header Bar Kit - PAIR TC-8800-03
DOOR - STILE CS772 1@| H-955 2274.5mm TOP ARM FIXING PLATE INO71XSLF
DOOR - STILE CS779 1@| H-955 2274.5mm AXIM Heavy Duty T/Load Bottom Pivot Assembly TC-9500-17
DOOR - AFT STILE CS773 2@| H-955 2274.5mm BOTTOM PIVOT FIXING PLATE INO70XSLF
ANTI FINGER GUARD TRIM | GK773 2@| H-955 2274.5mm FIXING CLEAT FOR TOP/BOTTOM RAIL NC700XSLF
DOOR CAVITY FILLER GK754 2@| H-955 2274.5mm CLEAT BACK PLATE INO75XSLF
WOOLPILE WP012 4 @] B/2-1541 845.9mm SOCKET HEAD BOLT FOR CLEAT M8x65mm FX213XSLF
WOOLPILE WP007 2@ H-955 2074.5mm CSK MACHINE SCREW M6x10mm FX707XSLF
CLEAT MIDRAIL KIT WS918XKIT
— - - - FACE PLATE LK1801-0R/0F
Example Cutting List for Standard Double Swing Door Beads with Mid-Rail set at 1100 mm ESCUTCHEON SET KIT | K062

exactly LOCK LK-1800-30
BEAD HORIZONTAL CS795 4@] B/2- 1989 801.1mm FIXING PLATE INO73XSLF _ —
BEAD HORIZONTAL CS928 8@| B/2- 1989 801.1mm STRIKE PLATE LK1800-51-F/R—
BEAD VERTICAL - TOP CS795 4@| H- 13286 | 1041.4mm KEEP BACK PLATE _ (NEW PART NUMBER) INO79XSLF  —
BEAD VERTICAL - TOP CS928 4@]| H- 13284 | 1041.6mm PAD HANDLE HDO9OXSLF
BEAD VERTICAL - BOTTOM | CS795 4@ FIXED* 902.6mm M10 STUD FOR PUSH HANDLE FX082XSLF
BEAD VERTICAL - BOTTOM | CS928 4@ FIXED* 902.8mm CYLINDER LK744XSLF
GLAZING GASKET EXT-TOP | GK425 2 @ |(2xGLASS width) + (2xGLASS height) +3%) M5 x 20mm Csk MACHINE SCREW FX800XSLF
GLAZING GASKET INT-TOP | GK910 2 @ |(2xGLASS width) + (2xGLASS height) +3%) N8 x 16mm Csk SELF TAPPING SCREW FX034XSLF
GLAZING GASKET EXT-BOT. | GK425 2 @ |(2xGLASS width) + (2xGLASS height) +3%) M5 x 16mm PAN HEAD MACHINE SCREW FX802XSLF
GLAZING GASKET INT-BOT. | GK910 2 @ |(2xGLASS width) + (2xGLASS height) +3%) No8 x 25mm Csk SELF TAPPING SCREW FX039XSLF
No8 x 32mm PAN HEAD SELF TAPPING SCREW FX032XSLF
N8 x 16mm PAN HEAD SELF TAPPING SCREW FX035XSLF
ALI GLUE - 310ml (SPECIFY COLOUR) SE007-008
FLUSH BOLT FB-6501-F18
GLASS MUST CONFORM TO LPS 1270 @ 17.5 Thk. Outer Frame (2000mm x 2370mm ) FLUSH BOLT FIXING PLATE INO77XSLF
GLASS -TOP [~ 2 @ |B/2- 2161 | H- 12986 |(8)783.9mm [H)1071.4mm FLUSH BOLT GUIDE FB-62-041
GLASS-BOTTOM |— 2 @ |B/2- 216.1 | FIXED** [(B)783.9mm |(H) 932.6mm

ISIENENTNITSIENT SIS

*FIXED - 1100mm-227.9mm=_872.1mm

**EIXED - 1100mm-174mm=926mm IMPORTANT NOTE

GLASS SIZE = SIGHT SIZE + 54 mm DUE TO MANUFACTURING AND PRODUCTION TOLERANCES OF
ALUMINIUM, PAINTING, ANODISING, GLASS, PANELS, GASKETS,

GLASS WEIGHT-TOP (1756 mmx25 )x(1.085 mts x 0.951 mts ) = 44.2 Kgs PROFILES SELECTED, THE NUMBER OF DOORS FITTED AND

GLASS WEIGHT-BOTTOM (17.56mmx25 )x(0.926 mts x 0.951 mts ) = 38.5 Kgs THE CONFIGURATION.MCHECK YOUR GLAZING DIMENSIONS
AND TRIAL THE GLASS SIZE FORMULA BEFORE PROCEEDING
WITH ANY BULK ORDERS.

s Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

J THE PARKSIDE GROUP LTD SCALE 1:2 @ A4
UNIT 5 ° THE WILLOW CENTRE
29 17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

( :OI l lal ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk N
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi—CD—-3.06 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.07

SUB TITLE
namciossr O
& |5mm EXTENDED s@DLE

G D SECURITY OPTION
CUTTING LIST DIAGRAM
CS777

2000

Cs797
CS798

10
10

CS798
Cs797

CS778

3 INO70XSLF

AXIM PIVOT
TC9500-17

3 CS100
CS015

Mid Rail Height 900 to 1100
To conform to DDA Standards

WS700XSLE

FRAME

LEAF V\{l DTH LEAF
WIDTH WIDTH

GK910 | | GK910 LK745XSLF GK910 | | GK910
CS798 | | CS798 — CS798 | | CS798
cs797|| ||Ccs797 - ﬂéﬁm Lkqcsro7]| ||cs797
f =1 ]j

- q i\:\&\\:\: %

i —

CS796 || CS796  CS772 j ICS779|CS796 | | CS796
CS422 SE003 ' SE003|  |\o74XSLF i SE003 ' ! SE003

CS965 CS962 GLASS LK752XSLF LK762 GLASS

LK740BSVI
_’_..‘-h\n} WIDTH INO73XSLF WIDTH

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE NTS @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 08/10/13

C O I I l a I Pa.rt Side SURREY ° CR4 4NX
group Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W /IS

Email: technical@parksidegrp.co.uk ;
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: ht'[p;//v\/\/\/w.oomar.alu,co,uk DRG. No. C/Pi—CD—-3.07 R1




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.08

SUB TITLE
G D SECURITY OPTION
EXAMPLE CUTTING LIST

Example Cutting List for Security Swing Door Outer Frame (2000mm x 2370mm )

FRAME - MULLION CS9%65 — 2@ H 2370.0mm
FRAME - INFILL PLATE Cs962 — 2@ H 2370.0mm
FRAME - HEADER BAR CS993 — B-90 1910mm
FRAME - HEADER BAR PLATE| CS992 — B-90 1910mm
DOUBLE RAMP THRESHOLD | CS015 B-90 1910mm
FLAT PLATE - 100mm x 3mm | CS143 B-90 1910mm

ACCESSORIES AND ADDTIONAL ITEMS

Example Cutting List for Security Swing Door Leaf with Mid-Rail set at 1100 mm exactly AXIM S/Load Top Arm & Channel TC-8800-15 —
DOOR - BOTTOM RAIL CS778 B/2 - 206.1 793.9mm AXIM Size 2 Hold Open TC-8802-90-15
DOOR - MID-RAIL CS783 B/2 - 206.1 793.9mm AXIM A-Kit Jamb & Header Bar Kit - PAIR TC-8800-03 —
DOOR - TOP RAIL Cs777 B/2 - 206.1 793.9mm
DOOR - STILE CS772 H-955 2274.5mm TOP ARM FIXING SECURITY ANGLE INO78XSLF
AXIM Heavy Duty T/Load Bottom Pivot Assembly TC-9500-17
DOOR - AFT STILE CS773 H-955 PIVOT PROTECTOR WS700XSLF
ANTI FINGER GUARD TRIM | GK773 H-955 2274.5mm

CLEAT MIDRAIL KIT WS918XKIT
LK740BSVR

Example Cutting List for Security Swing Door Beads with Mid-Rail set at 1100 mm exactly LK762BSVR
BEAD HORIZONTAL CS796 — 8@| B/2- 1961 | 8039mm | —— INO73XSLF
CS797 8@| B/2- 196.1| 803.9mm | C——
CS798 8@| B/2- 2061 793.9mm | T——1 INO74XSLF
BEAD VERTICAL - TOP 4@]| H-1359.1 1091.4mm
4@
4@ LK745XSLF
4@ FIXED* 952.6mm
4@ 145 x 20mm Csk MACHINE SCREW FX800XSLF
4@ FX034XSLF
145 x 16mm PAN HEAD MACHINE SCREW FX802XSLF
No8 x 25mm Csk SELF TAPPING SCREW FX039XSLF
No8 x 32mm PAN HEAD SELF TAPPING SCREW FX032XSLF
N8 x 16mm PAN HEAD SELF TAPPING SCREW FX035XSLF
ALl GLUE - 310ml (SPECIFY COLOUR) SE007-008

GLASS SIZE = SIGHT SIZE + 54 mm

GLASS WEIGHT-TOP (175 mmx 2.5 )x (1.065mts x 0.951 mts ) = 44.2 Kgs
GLASS WEIGHT-BOTTOM (175 mmx 2.5 )x (0.926 mts x 0.951 mts ) = 38.5 Kgs

s Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

J THE PARKSIDE GROUP LTD SCALE 1:2 @ A4
UNIT 5 ° THE WILLOW CENTRE
29 17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

( :OI l lal ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk N
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7/Pi—CD—-3.08 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.09

SUB TITLE
' D STANDARD & SECURITY FABRICATION DETAIL

OUTER FRAME ASSEMBLY
Afi CS962 . CS965
%
Eg %

0
%%

Part Of AXIM

TC-8800
Csapp C5994

.- <1:a

N TC-8800-03

N

CS997

csazz ()

AXIM closer
with a 15mm
extended
spindle

LK752XSLF

INSIDE OF BUILDING. PLATE

NOTE: GRUB SCREW SECURITY
TO BE FITTED TO STRIKE I

TC-9500-17 INO74XSLF
© SECURITY
¥ J ws700XSLF

PIVOT PROTECTOR

SECURITY OPTION
LK1800-51-F
STANDARD

STRIKE

PLATE
INO79XSLF
STANDARD

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE 11 @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

( :OI l lal ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk ;
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: ht'[p;//www.oomar.alu,co,uk DRG. No. C7Pi—CD—-3.09 RO




TITLE

comanr 7P.i THERMALLY EFFICIENT DOOR

POLYAMIDE INSULATED DOORS

SYSTEM

SHEET No.

3.10

SUB TITLE
( : D FABRICATION DETAIL
STANDARD DOOR LEAF ASSEMBLY

M@LI? CS773

INO75XSLF

En

NC700XSL
FX213XSLF

FX707XSLF

FX213XSLF

NC700XSLF

WS918XKIT

WS918XKIT

INO75XSLF
@
@ I\Lﬁ? FX727XSLF

sl

NC700XSLF
FX213XSLF

INO70XSLF

TC-9500-17

FX707XSLF ¢ & é\\?\,f %\1075XSLF

CS779

T
N

GK754

INO73XSLF

GK754

INO73XSLF

LK1800-30

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
Subject to modifications without prior notification

reproduction or publication to any third party. All other rights reserved.

SCALE

NTS Q@ A4

J THE PARKSIDE GROUP LTD
UNIT 5 ° THE WILLOW CENTRE

@ 17 WILLOW LANE ° MITCHAM

DATE

25/07/13

I I l I b SURREY ° CR4 4NX
C O a Pag{‘l)ui]:?e Tel: 020-8685 9685 Fax: 020-8687 1142

DRAWN

W /1S

Email: technical@parksidegrp.co.uk
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http:/Avww.comar-alu.co.uk

DRG. No.

C7Pi—CD—-3.10 R1




TITLE

comanr 7P.i THERMALLY EFFICIENT DOOR

POLYAMIDE INSULATED DOORS

SHEET No.

SYSTEM 3.1

SUB TITLE
G D FABRICATION DETAIL
SECURITY DOOR LEAF ASSEMBLY

o 1C-8800-15
) JUON@™N8 "% END LOAD DRIVE ARM

INO7SXSLF
I8 NN
@ ] > INO78XSLF - SECURITY ANGLE

INO72XSLF
NC700XSL
FX213XSLF

FX707XSLF

FX213XSLF

NC700XSLF

WS918XKIT

WS918XKIT

WS918XKIT

INO75XSLF
@
@ I\Lﬁ? FX7(;7XSLF

3l

NC700XSLF
FX213XSLF

INO70XSLF

TC-9500-17

S (x
FX707XSLF ¢ & % é\\?\lﬁ %\1075XSLF

CS779

LK740BSVR

LK762BSVR

INO73XSLF

-

LK740BSVR

LK762BSVR \H

T
N

r Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,

reproduction or publication to any third party. All other rights reserved.

Subject to modifications without prior notification

SCALE 1:7 Q@ A4

J THE PARKSIDE GROUP LTD
UNIT 5 ° THE WILLOW CENTRE

@ 17 WILLOW LANE ° MITCHAM

DATE 01/10/12

I I l I b SURREY ° CR4 4NX
C O a Pag{‘l)ui]:?e Tel: 020-8685 9685 Fax: 020-8687 1142

DRAWN WM / CAD

Email: technical@parksidegrp.co.uk
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http:/Avww.comar-alu.co.uk

DRG. No.| C7Pi=CD-3.11 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.12

SUB TITLE
( : D STANDARD & SECURITY OPTION
HEADER BAR/PLATE ASSEMBLY, TRANSOM BRACKET PREPS

/ @6 mm Fixing holes

AXIM @6.5 mm Csk drill
TC-8800-03 M6 x 25 mm Machine
Csk Screws

g Use COM7 - JIG 1

~NJ

N Fixing holes
@4.5 mm Csk drill

M4 x 4 mm Machine
Csk Screws

@34 mm Spindle Hole

@10 mm Access Hole

for transom closer @4.5 mm Csk drill ———=
adjustment M4 x 4 mm Machine —— 8
Csk Screws

Mullion hole positions for
AXIM Transom Support
Brackets

Use 2 self
tapping screws
for fixing to
polyamide strip

T
N

Copyright & ownership of this drowing is vested in COMAR Architecturol Aluminium Systems, whose pr-of wr-nen consent is requred far -|s use,
reproduction or publicotion to ony third porty. All other rights reserved. Subject without prior

J THE PARKSIDE GROUP LTD SCALE 1:1 @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 01/06/11

‘ :DI ' lal ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W / CAD

Email: technical@parksidegrp.co.uk

ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi-CD-3.12 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.13

SUB TITLE
( : D STANDARD & SECURITY OPTION
HEADER BAR/PLATE PREP DETAILS

HEADER BAR/PLATE HOLE POSITIONS FOR
AXIM TRANSOM SUPPORT BRACKETS
USE COM7-JIG1

309

&
@6\

X

N

| 1

(@)
195}
©— 1+ -
©
@

N\
I

— — 1]

ly._.l__l_

)

CS962 CS965

i

CS962 CS965

Copyright & ownership of this drowing is vested in COMAR Architecturol Aluminium Systems, whose pr-of wr-nen consent is requred far -|s use,
reproduction or publicotion to ony third porty. All other rights reserved. Subject without prior

THE PARKSIDE GROUP LTD SCALE 1:1 @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 01/06/11

‘ :OI ' lal ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W / CAD

Email: technical@parksidegrp.co.uk

ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi-CD-3.13 RO




TITLE

POLYAMIDE INSULATED DOORS SHEET No.
cormanr 7/pP.i

THERMALLY EFFICIENT DOOR SYSTEM 3.14

SUB TITLE
G D STANDARD & SECURITY OPTION
BOTTOM PIVOT ASSEMBLY, TOP & BOTTOM CS773 PREPS

g g

CS773 FINGER GUARD CS773 FINGER GUARD
DOOR STILE BOTTOM DOOR STILE TOP
PREPARATION PREPARATION

NC700XSLF

INO70XSLF

TC-9500-17

CS100
TC-9500-17
@ WS700XSLF

PIVOT PROTECTOR
(SECURITY OPTION ONLY)

Copyright & ownership of this drawing is vested in COMAR Architectural A\um‘m‘\um Systems, whose prior written o
reproduction or publication to any third pa ty. All other rights d.

onsent is requ df its
b ot to modifications witnor (p

tfcot

THE PARKSIDE GROUP LTD SCALE NTS

UNIT 5 ° THE WILLOW CENTRE
125] 17 WILLOW LANE ° MITCHAM DATE 10/07/13
‘ :OI ' |al ) SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W /IS
Email: technical@parksidegrp.co.uk
C7Pi—CD—-3.14 RI1

Q@ A4

ARCHITECTURAL ALUMINIUM SYSTEMS

Web Site: http://www.comar-alu.co.uk DRG. No.




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.15

SUB TITLE
( : D STANDARD & SECURITY OPTION
CONCEALED CLOSER PREP DETAIL

CS965

%
"?p AXIM CLOSER
WITH a 15mm EXTENDED SPINDLE

3

PLEASE NOTE: ALL PREPS FOR CS773
SHOULD BE DONE PRIOR TO FRAME
ASSEMBLY.

ASSEMBLY:
1. NCO71XSLF/NC072XSLF SLIDES IN TO
CS777 PRIOR TO LEAF ASSEMBLY.

2. USING CENTER PUNCH MARK HOLES 1-4 &
B,C,D. REMOVE NCO71XSLF/NCO72XSLF AND
DRILL&TAP HOLES 1-4 FOR M5 SCREWS.
DRILL HOLES B,C,D USING 5MM DRILL BIT.

s
3. WHEN DOOR LEAF CORNERS ARE FIXED *\;
WITH CLEATS NCO71XSLF/NC072XSLF SLIDE
PLATE BACK & FIX IT TO CS777 WITH INO78XSLF t
< u

4XFX802XSLF SCREWS.

7
4, THEN FIX END LOAD ARM TC-8800-15 TO ]W INO72XSLF\I[

PLATE NCO071XSLF/NC072XSLF USING
SCREWS SUPPLIED IN KIT.

5. INSTALL TOP ARM PROTECTION ANGLE CS422

BETWEEN NCO72XSLF AND TOP ARM PLATE. ‘
N

FX802XSLF
Mb5x16mm PAN HEAD
MACHINE SCREW

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE NTS @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 01,/10/12

( :OI l lal ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk ;
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: ht'[p;//www.oomar.alu,co,uk DRG. No. C7Pi—CD—3.15 RO




corma

TITLE SHEET No.

POLYAMIDE INSULATED DOORS
N 7P THERMALLY EFFICIENT DOOR SYSTEM 3.16

SUB TITLE

' D STANDARD& SECURITY FABRICATION DETAIL

BOTTOM RAIL PIVOT PREP DETAILS

+50.8 (CS734)

+52 (WOOLPILE)

BOTTOM RAIL PLATE CS734 PREPARATIONS

AXIM TC9500-17

BOTTOM PIVOT ASSEMBLY

WITH ALL FASTERNERS
SUPPLIED WITH KIT

/ FIXING PLATE
@ _— Csio0

P0O12

WP012 WOOLPILE PREPARATION

WS700XSLF
PIVOT PROTECTOR

alelo i
K = 'rfw\’.csms

CS143

(SECURITY OPTION ONLY)

HOLE POSITIONS FOR FIXING PLATE INO70XSLF

/
57 '

= W T/

CS773

FX802XSLF L — INO70XSLF
Mb5x16mm PAN HEAD FIXING PLATE

MACHINE SCREW  Copyright & ownership of this drowing is vested in COMAR Architecturol Aluminium Systems, whose pr-of written consent is required for its use,
reproduction or publicotion to ony third porty. All other rights reserved. Subject without prior

THE PARKSIDE GROUP LTD SCALE 1:1 @ A4

UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 01/06/11

SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W / CAD

Email: technical@parksidegrp.co.uk

ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi-CD-3.16 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.17

SUB TITLE
STANDARD& SECURITY FABRICATION DETAIL
BOTTOM PIVOT FIXING DETAILS

PLEASE NOTE: ALL PREPS FOR CS773 SHOULD BE DONE
PRIOR TO FRAME ASSEMBLY.

ASSEMBLY:
1. NCO70XSLF SLIDES IN TO CS778 PRIOR TO LEAF ASSEMBLY.

2. USING CENTER PUNCH MARK HOLES 1-4 & B,C,D. REMOVE
NCO70XSLF AND DRILL&TAP HOLES 1-4 FOR M5 SCREWS.
DRILL CLEARANCE HOLES B,C,D USING 5MM DRILL BIT.

3. WHEN DOOR LEAF CORNERS ARE FIXED WITH CLEATS
NCO70XSLF SLIDE PLATE BACK & FIXIT TO CS778 WITH
4XFX802XSLF SCREWS.

4. THEN FIX BOTTOM PIVOT TC-9500-17 TO PLATE NCO70XSLF
USING SCREWS SUPPLIED IN KIT.

NCO70XSLF 3xM6 R/H FIXING SCREWS & WASHERS
DRILL & TAP CS778 FOR CENTRAL
LOCKING SCREW
FOLLOWING SITE ADJUSTMENT

INO70XSLF a
el A

TC9500-17 v - -

o Y

WS700XSLF Pivot Protector \[ FX802XSLF

Security Option Only M5x16mm PAN HEAD MACHINE
SCREWS
DRILL & TAP CS778

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE 11 @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

‘ :OI ' |aI ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk ;
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: ht'[p;//www.oomar.alu,co,uk DRG. No. C/Pi—CD—-3.17 RO




corrmanr /pP.i
cD

"M POLYAMIDE INSULATED DOORS
THERMALLY EFFICIENT DOOR SYSTEM

SHEET No.

3.18

SUB TITLE

STANDARD& SECURITY FABRICATION DETAIL

THRESHOLD PREPS

CETT T

USE TOOL 13 STATION 4 TO

USE TOOL 13 STATION2 TO
PUNCH 13mm HOLE IN CS915

PUNCH 5.5mm HOLE IN CS915

CS915 1

|t — |

FX035XSLF

N8 x16mm PAN HEAD SCREW

CS915

5.5 @13

70

FOR 70mm PIVOT POIN

Copyright & ownership of this drowing is vested in COMAR Architecturol Aluminium Systems, whose
reproduction or publicotion to ony third porty. All other rights reserved. Subjec!

CS015

e prior written consent is required for its use,
to A, oS

without prior

ARCHITECTURAL ALUMINIUM SYSTEMS

THE PARKSIDE GROUP LTD
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM
SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142
Email: technical@parksidegrp.co.uk
Web Site: http://www.comar-alu.co.uk

SCALE

1:1 @ A4

DATE

01,/06 /11

DRAWN

WM / CAD

DRG. No.

C7Pi—-CD-3.18 RO




comar 7/p.

cD

TITLE

POLYAMIDE INSULATED DOORS SHEET No.
l’ THERMALLY EFFICIENT DOOR SYSTEM 3.19

SUB TITLE

STANDARD FABRICATION DETAIL
OUTER FRAME KEEP PREPARATION

INO74XSLF

INO73XSLF

LK1800-51 F/R

LK1800-30

CS779
Door style

— LK1800-51/F or R

INO79XSLF Standard keep ——
Lock Keep Back Plate (F = Flat face) R —
(R = Radiused Face)

?

_

©,

CS772
Door style

=
N

v

FX802XSLF
M5 x 16 mm Csk Head

j_/ Machine Screw

Copyright & ownership of this drawing is vested in COMAR Architectural A\ uminium Systems, who:
reproduction or publication to any third party. All other rights reserved.

e prior written consent is df its
b ct to modifications witho (p otification

——a

THE PARKSIDE GROUP LTD SCALE 1:2 @ A4
UNIT 5 ° THE WILLOW CENTRE

125 17 WILLOW LANE ° MITCHAM DATE 01,/06 /11
( :Ol l lal ) w SURREY ° CR4 4NX

ARCHITECTURAL ALUMINIUM SYSTEMS

Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD
Email: technical@parksidegrp.co.uk ;
Web Site: http://www.comar-alu.co.uk DRG. No.| C/7Pi=CD-3.19 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.20

SUB TITLE
' D STANDARD OPTION - LEAF FABRICATION DETAIL
LOCK PREPARATION

—M5 x 75mm
Internal Csk Machine Screw

view ) 16.8

LK1801
Plate

FX802XSLF
M5 x 16mm Pan Head ’ INO73XSLF
Machine Screw Lock fixing plate

LK-1800-30
Standard Lock

LK1800-51
Keep

CS997
Mullion
adaptor

CS779
Door style

©

/ INO74XSLF
Lock keep
LK-062

back plate
Standard

Escutcheon

External
view

T INO73XSLF

Lock fixing plate

M5 x 16mm Pan Head
Machine Screw

Copyright & ownership of this drowing is vested in COMAR Architecturol Aluminium Systems, whose pr-of wr-nen consent is requred far -|s use,
reproduction or publicotion to ony third porty. All other rights reserved. Subject without prior

THE PARKSIDE GROUP LTD SCALE 1:2 @ A4

UNIT 5 ° THE WILLOW CENTRE

17 WILLOW LANE ° MITCHAM DATE 01/06/11
SURREY ° CR4 4NX

Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W / CAD
Email: technical@parksidegrp.co.uk

ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi-CD-3.20 RO




cormanr 7/pP.i
cD

TITLE

POLYAMIDE INSULATED DOORS

SHEET No.

THERMALLY EFFICIENT DOOR SYSTEM 3.21

SUB TITLE

STANDARD OPTION - LEAF FABRICATION DETAIL

LOCK ASSEMBLY

CS779
LOCK ASSEMBLY DOOR STILE

GK754
DOOR CAVITY
FILLER

LK744XSLF

o

LK-062
ESCUTCHEON

T
N

Vv

CYLINDER 40/40

GK754
DOOR CAVITY
FILLER

£

INO73XSLF
LOCK FIXING
PLATE

FX802XSLF
M5x16mm PAN HEAD
MACHINE SCREW

INO73XSLF
LOCK FIXING
PLATE

GK754
DOOR CAVITY

\ FILLER

LK-062
ESCUTCHEON

LK-1800-30
HOOK LOCK

%,

ay

LK1801-OR/OF
COVER PLATE

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

=
cormanr

ARCHITECTURAL ALUMINIUM SYSTEMS

THE PARKSIDE GROUP LTD SCALE
UNIT 5 ° THE WILLOW CENTRE

NTS Q@ A4

17 WILLOW LANE ° MITCHAM DATE

01,/06 /11

SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN

VM / CAD

Email: technical@parksidegrp.co.uk
Web Site: http://www.comar-alu.co.uk DRG. No.

C7Pi—CD—-3.21 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.22

SUB TITLE
(@ D SECURITY FABRICATION DETAIL
OUTER FRAME KEEP PREPARATION

INO74XSLF
Lock Keep Back Plate

CS997
Mullion Adaptor — LK752XSLF
Flat Strike Plate

CS779 LK754XSLF
Door style Security Cylinder

LK740BSVR ——
Face Plate

INO73XSLF INO74XSLF LK752 Security Keep
Lock fixing plate VIS ST VAR R Lock Keep Back Plate

v/
/e
ADAMS RITE

=
ASSA ABLOY

SENTINEL
EN 12209
2003

7

2

a
N>

D

\ FX802XSLF

M5 x 16 mm Pan Head
Machine Screw

CS772
Door style

s Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

J THE PARKSIDE GROUP LTD SCALE 1:2 @ A4
UNIT 5 ° THE WILLOW CENTRE
29 17 WILLOW LANE ° MITCHAM DATE 08/10/13

C O I I l a I Parkside SURREY ° CR4 4NX
group Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W /IS

Email: technical@parksidegrp.co.uk N
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi=CD—=3.22 R1




cormanr 7/pP.i
cD

TITLE

POLYAMIDE INSULATED DOORS SHEET No.
THERMALLY EFFICIENT DOOR SYSTEM 3.23

SUB TITLE

SECURITY LEAF FABRICATION DETAIL
LOCK PREPARATION

CS779
Door style

63.5
33.7

31.7 LK740BSVR
| Face Plate

INO73XSLF

j | LK752XSLF
Lock Keep | Flat Strike

INO73XSLF
Lock Fixing Plate

15

Back Plate Plate

INO74XSLF
Lock Keep
Back Plate

LK745XSLF
Security Cylinder

HunII

FX802XSLF

M5 x 16 mm
Pan Head

Machine Screw

CS779
Door style

External
View

31.7

FX802XSLF ’
M5 x 16 mm w
Pan Head

Machine Screw

5.

5.

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE 1:2 @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 08/10/13

C O I I l a I Pa.t‘t Side SURREY ° CR4 4NX
group Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W /IS

ARCHITECTURAL ALUMINIUM SYSTEMS

Email: technical@parksidegrp.co.uk N
Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi—=CD—-3.23 R




TITLE

POLYAMIDE INSULATED DOORS SHEET No.

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.24

SUB TITLE

G D SECURITY LEAF FABRICATION DETAIL
LOCK ASSEMBLY

X

LK762BSVR
SECURITY ESCUTCHEON
SET PART OF KIT 2/3

\

LOCK ASSEMBLY } |

CS779
DOOR STYLE

GK754
DOOR CAVITY LK762BSVR
~ - FILLER ps  SECURITY ESCUTCHEON

GK754 SET PART OF KIT 3/3

DOOR CAVITY S
FILLER N

INO73XSLF
LOCKING FIXING

LK740BSVR
SENTINAL
PART OF KIT 1/2

LK745XSLF
KITE MARK CYLINDER FX802XSLF
85MM 45EXT/40 Mb5x16mm PAN HEAD 8

MACHINE SCREW
&

INO73XSLF
LK762BSVR LOCKING FIXING
SECURITY ESCUTCHEON PLATE
SET PART OF KIT 1/3

LK740BSVR
FACE PLATE

GK754
DOOR CAVITY PART OF KIT 1/2

FILLER

N

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

J THE PARKSIDE GROUP LTD SCALE NTS @ A4
UNIT 5 ° THE WILLOW CENTRE
29 17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

C O I I l a I Parkside SURREY ° CR4 4NX
group Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk N
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi=CD—=3.24 RO




"M POLYAMIDE INSULATED DOORS

C O m a P 7 I:) l THERMALLY EFFICIENT DOOR SYSTEM

SHEET No.

3.25

SUB TITLE

G D SECURITY LEAF FABRICATION DETAIL

FLUSH BOLT PREPARATION

STAGE 1

7

TN\

CS772
DOOR STYLE

Stage 1
removal of the GK754 carrier nibs.

STAGE 2

removal of polyamide
and polyamide carrier.

Copyright & ownership of this drowing is vested in COMAR Architecturol Aluminium Systems, whose prof wril nen cmsent is requred far |s use,
reproduction or publicotion to ony third porty. All other rights reserved. Subject

without prior

THE PARKSIDE GROUP LTD

UNIT 5 ° THE WILLOW CENTRE

c 17 WILLOW LANE ° MITCHAM
CO' ' Ia' | SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142

Email: technical@parksidegrp.co.uk

ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk

SCALE

1:2 @ A4

DATE

01,/06 /11

DRAWN

WM / CAD

DRG. No.

C7Pi—-CD-3.25 RO




SHEET No.

"M POLYAMIDE INSULATED DOORS 3.26

. THERMALLY EFFICIENT DOOR SYSTEM
comanr 7P.i___

G D SECURITY LEAF FABRICATION DETAIL
FLUSH BOLT ASSEMBLY

> INO77XSLF

@

FB-6501-F18

“ INO77XSLF

To be cranked
by fabricator
to suit guide

GK754
DOOR CAVITY
FILLER

\/

FX091XSLF
FB-62-041

N8 x 13 mm Csk )
Self-Tapping Screw Flush Bolt Guide

§ §

AR s

M
z

FB-62-041

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
All other rights reserved. Subject to modifications without prior notification

reproduction or publication to any third party.
THE PARKSIDE GROUP LTD
UNIT 5 ° THE WILLOW CENTRE
125] 17 WILLOW LANE ° MITCHAM DATE 01,/06 /11
Parkéide SURREY ° CR4 4NX
group Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W/ CAD
Email: technical@parksidegrp.co.uk

ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No. C7Pi—CD—-3.26 RO

SCALE NTS Q@ A4




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7pP.i THERMALLY EFFICIENT DOOR SYSTEM 3.27

SUB TITLE
G D STANDARD & SECURITY LEAF FABRICATION DETAIL
CLEAT ASSEMBLY

INO75XSLF @ @

CLEAT BACK PLATE

NC700SLF
FIXING CLEAT

FX213XSLF
M8 x 65 mm
SOCKET HEAD BOLTS

|
FX707XSLF
M6 x 10 mm
CSK MACHINE SCREWS

NC700SLF
FIXING CLEAT

FX213XSLF
40 . M8 x 65 mm

SOCKET HEAD BOLTS
59
r4_0,l

CS773 FX707XSLF

M6 x 10 mm
59

CSK MACHINE SCREWS

INO75XSLF l
CLEAT BACK PLATE

e
g Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE NTS @ A4
UNIT5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

( :O' ' lar‘ SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk ;
ARCH'TECTURAL ALUMINIUM SYSTEMS Web Site: h{tp;//www,comar.alu.co,uk DRG. No. C/Pi—CD—3.27 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.28

SUB TITLE

' D STANDARD & SECURITY LEAF FABRICATION DETAIL
CLEAT PREPARATION

INO75XSLF —1 FX707XSLF @d12mm
Cleat Back Plate M6 x 10 mm Clearance Drill NC700XSLF

Csk Machine Fixing Cleat
Screws

‘HHIH T EE}\

A\
= N FxoiaxsLF 199

| NC700SLF M8 x 65 mm
Fixing Cleat Socket Head Bolts

10.9
=4

T T EE}

g ™ @12 mm

Clearance Dirill

— INO70XSLF

NC700XSLF

Fixing Cleat \ 312

(1A9RURETARRRAN AR AN

12

(LT T E ‘
\ \

A4 \

\_ FX213XSLF INO72XSLF
M8 x 65 mm Slide in Prior to

Socket Head Bolts Leaf Assembly

INO75XSLF

CLEAT BACK PLATE @12mm Csk Straight

Through Holes

PLEASE NOTE: ALL PREPS FOR CS773,CS772 SHOULD BE
DONE PRIOR TO LEAF ASSEMBLY. WP007, INO70 AND INO72
SHOULD BE SLID IN PRIOR TO LEAF ASSEMBLY

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE NTS @ A4
UNIT 5 ° THE WILLOW CENTRE
29 17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk ;
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: ht'[p;//www.oomar.alu,co,uk DRG. No. C7Pi—CD—3.28 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.29

SUB TITLE
' D STANDARD & SECURITY LEAF FABRICATION DETAIL
MID-RAIL PREPARATION AND ASSEMBLY

CS773
FINGER GUARD DOOR
STYLE

WS918XKIT

WS918XKIT

WS918XKIT

1=

Copyright & ownership of this drowing is vested in COMAR Architecturol Aluminium Systems, whose pr-of wr-nen consent is requred far -|s use,
reproduction or publicotion to ony third porty. All other rights reserved. Subject without prior

THE PARKSIDE GROUP LTD SCALE NTS @ A4

UNIT 5 ° THE WILLOW CENTRE

17 WILLOW LANE ° MITCHAM DATE 01/06/11
SURREY ° CR4 4NX

Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN W / CAD
Email: technical@parksidegrp.co.uk

ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi-CD-3.29 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.30

cD

SUB TITLE
STANDARD & SECURITY LEAF FABRICATION DETAIL
KEEP ASSEMBLY

CS997
MULLION
ADAPTOR

.
N

4

GK754
DOOR CAVITY
FILLER

INO79XSLF
STANDARD LOCK KEEP
BACK PLATE

INO74XSLF
SECURITY LOCK KEEP
BACK PLATE

CS965
MULLION

FX802XSLF FOR CS997 PREPS PLEASE
M&x16mm PAN HEAD - SEE PAGE REF. 3.18

MACHINE SCREW

LK1800-51
STANDARD STRIKE PLATE

LK752
SECURITY STRIKE PLATE

GK754
DOOR CAVITY
FILLER

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

=
cormanr

ARCHITECTURAL ALUMINIUM SYSTEMS

THE PARKSIDE GROUP LTD SCALE NTS @ A4

UNIT 5 ° THE WILLOW CENTRE
125] 17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

PatRBide SURREY ° CR4 4NX
grou; Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk N
Web Site: http://www.comar-alu.co.uk DRG. No.| C7Pi—CD—-3.30 RO




TITLE SHEET No.

POLYAMIDE INSULATED DOORS

comanr 7rP.i THERMALLY EFFICIENT DOOR SYSTEM 3.31

SUB TITLE
' D STANDARD & SECURITY LEAF FABRICATION DETAIL
BEAD FIXING

CS797

\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\
\

LI Gl 8887

N

Q Q\s
XN
00202020
0202050 20020

02020202020 6%

VYt o %

‘\v)—v‘/,qO

FX802XSLF

Offset the drill holes in CS796 & CS797

by 50 mm from the edge of the profile

then spaced every 100 mm towards the

centre-line, as shown. See page 1.09 for full diagram

S

CS797

o Z
On CS796 side pieces S

notch out this piece only
HORIZONTAL BEADS

CS796 - Side Piece

) § CS796 - Bottom Piece
e »
\___Fillet this sharp edge
for a very tight fit
notch out
—_ N

N

Copyright & ownership of this drawing is vested in COMAR Architectural Aluminium Systems, whose prior written consent is required for its use,
reproduction or publication to any third party. All other rights reserved. Subject to modifications without prior notification

THE PARKSIDE GROUP LTD SCALE NTS @ A4
UNIT 5 ° THE WILLOW CENTRE
17 WILLOW LANE ° MITCHAM DATE 01,/06 /11

( :OI l lal ] SURREY ° CR4 4NX
Tel: 020-8685 9685 Fax: 020-8687 1142 DRAWN VM / CAD

Email: technical@parksidegrp.co.uk ;
ARCHITECTURAL ALUMINIUM SYSTEMS Web Site: ht'[p;//www.oomar.alu,co,uk DRG. No. C7Pi—CD—3.31 RO




	C7Pi CD 3.01  R1 CUTTING LIST STANDARD SINGLE DOOR - CS733 or CS774 3
	C7Pi CD 3.02
	C7Pi CD 3.03   R1 CUTTING LIST SECURITY SINGLE DOOR - CS773 or CS774 3
	C7Pi CD 3.04   R1 CUTTING LIST SECURITY SINGLE DOOR - CS773 or CS774 3
	C7Pi CD 3.05
	C7Pi CD 3.06
	C7Pi CD 3.07  R1 CUTTING LIST SECURITY DOUBLE DOOR - CS773 or CS774 3
	C7Pi CD 3.08
	C7Pi CD 3.09   R0  FRAME ASSEMBLY 3
	C7Pi CD 3.10   R1  STANDARD DOOR LEAF ASSEMBLY
	C7Pi CD 3.11   R0  SECURITY DOOR LEAF ASSEMBLY
	C7Pi CD 3.12   R0  HEADER BAR,PLATE,JAMBS PREPS
	C7Pi CD 3.13   R0  HEADER BAR,PLATE PREPS
	C7Pi CD 3.14   R1  CS773 PREPS-BOTTOM PIVOT ASSEMBLY
	C7Pi CD 3.15   R0   CLOSER PREPS 3
	C7Pi CD 3.16   R0  BOTTOM PIVOT PREPS
	C7Pi CD 3.17   R0   BOTTOM PIVOT PREPS 3
	C7Pi CD 3.18   R0  THRESHOLD FIXING DETAIL
	C7Pi CD 3.19   R0  KEEP PREPS 3
	C7Pi CD 3.20   R0  STANDARD LOCK PREPS
	C7Pi CD 3.21   R0  STANDARD LOCK ASSEMBLY
	C7Pi CD 3.22   R1  KEEP PREPS
	C7Pi CD 3.23   R1 SECURITY LOCK PREPS
	C7Pi CD 3.24   R0  LOCK ASSEMBLY
	C7Pi CD 3.25   R0  FLUSH BOLT PREPARATION
	C7Pi CD 3.26   R0  FLUSH BOLT ASSEMBLY
	C7Pi CD 3.27   R0  CLEAT ASSEMBLY-3.27
	C7Pi CD 3.28   R0  CLEAT PREPS 3
	C7Pi CD 3.29   R0  MIDRAIL PREPS
	C7Pi CD 3.30   R0  KEEP ASSEMBLY
	C7Pi CD 3.31   R0  BEAD PREPARATION 3

